LAVAE =50

1) z=3, y=-1 () 2=2, y=2
Qpmtf =T wevors @
%x+y=8 ------ @
©, @QERES L, FBES LEkT L
2x—y=17
+) 3z +y=8
e =158
2=3
z=3%QIZRATHL
3x3+y=8
y=-1
£oT z=3, y=-—1
s M el sides 0)
z+3y=8 e @
O, @QEBESL, FERES> LEVL L
z—4dy=—6
—) z+3y=8
-Ty=-14
i =2
y=2%2QIZRATD L
z+3X2=8
y=2
£oT e=2, y=2
—dr+y=13 - @®
22+y=1 e @
O, O@QDEBESL, HEREI> LEVL &
—4zx+y=13
-) 2z+y=1
—6x =12
z=-=2
r==-2%QIZRATH &L
2X(—2)+y=1
y=>5
£oT r=-2, y=5

®)

F==2; §=35



RE (1) z=3, y=4 (2) =2, y:—3

O, OQnEBESL, FELES LETE
z+2y=11
+) 3z—2y=1
4z =12
r=g
z=3%ODIRATHL
3+2y=11
2y=8
oy =4
Lo T 2=3, y=4
dz+3y=-1 - )
[4x—2y=14 ...... @
D, @nEBESL, FREILEVL &
dr+3y=-1
—) dr—2y=14
S5y=—15
y=-3
y==3 % OQITRATH L
dz+3X(—-3)=-1
4r=8
z=2
£oT 2=2, y=-—3
@ {—3x+4y=5 ------ ®
z+6y=15  ---o- )
O, @QDEBES L, HETLES> LERTEL
—3z+4y=>5
+) 3z+6y=15
10y =20
Yy =2
y=2% QITRATHL
3z+6%x2=15
Je=3
2 =l
£oT z=1, y=2




